
!

L

v

K
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3.h
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O*x - bP;+/f)/JO-/52)  = -6(oPx+pi)

a*; - (0~~ - ,eU]/  J (1 -p  2, - s(op,  -,m)  '

OP’Y - OPY

"Pi - OP,

u - (u;/Bop:v  J (1 -a” = f (u’+ /B op;>

u’ - Oq9cP,,/J  (1 -f) = ‘6 OJ -pop,,

hdQn&Jci;

%?a

3.m

3.70

3.7d

3.86

3.86

U2 - (02p2x+02p~+02pq)  . d2- 2$+02pr;(0 P + o"p'f) 3.9

n = (4 + v)/ (1 + vQo2)

; = u;/(1+vl@)

3 = q (l+vqc')
Y 0

Gt  TWlihl  rMn?mu~frH?7J’S1JfMRL~~~fnrm  (a proton - Proton collieian)
1 jd 4 '2'6
QUH ~nfdh!u~~~UJh  the laboratory q&em. ~~Rj~,ua~~l.l~nQli~ml

(icident proton)
+

P+P - p+n+  n

P+P+ 71
0

*+* -



l~~~~KjB&&kifl%'Kl~  the invariant

a2
2 2

-CP

fiGilu  2 ralXrfl7:Zn*

3.9
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fl2lllLhNthe  centre of mass system 4 L%llJl%the  laboratory eptam
/



3.8a

3.14

3.46

3.7a

3-17

3 . 4
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momentumcampo~nt  lU%*JA

centre of mass li%m& udi

laboratory system.

= (U -  Moc2)  (U + Moc2)/  (U + Moc2)"

CP = 793 MeV
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3.19



=r - (qo2  + L) I 1880 + 350 - 2230 Ebv

02p2 = 62-r&+

I (I! + &a2)2  - l4g 04

= (350  + 94012 - (94a2

- mo>2 - (94012

CP = 884 MOV

.2
u - hybo2  = + X 2230 X 940 lb*

d
I

- 1025Mev

E* m u* - H$a2 I 1025 -  940 -  85 HoV



I 2X940(2X85-140)
2 x 94Q + l&l

- 28Md

i * @‘n )- q 2+m  a

= 28nev+~olw? -168Mev

I
4

;*

2X28XL$O I 88MeV

CP’/ v;r -33 I 0.525

p. - UP / UT

- 884 / 2230 - 0.396

ua: )‘ -

k-

- 1.09

-p:



tiiifil'tthe  pFimary  particle Tt&?uaaJ  7I-  meson Iu the oentre of maea
I t 8

~P~w&nu7nm~'lum?  3.19 l&ul&Nwnthe  binding energy m tb
deuteron,Wd  (e2.2HeV)

(E;  )- = $- (2E'  - m,02  + Wd) 3.21
n
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l&JlJliiJth~  laboratory

, 3.G

3.a



3.a

i-b~fn,&?97"  2.248. I 1, oosw* =O

3.2 fh9lza~~~llllUut~ (Fbperties  of the light meson -/"- meson)

3.2.1 nclrb7w;?m4  77-  meeon  iibJ,q (dnrged  7- meson  claoay)

the proton -

lharlnl  lo+



6 :r ,
ruafi~armtsG&l;  rset  ma88  moo2 = 'ma

- 9.4 x 10-= I( (3 X 108)2  I 8.19 X lO-y  joula UU:
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p(t) + dp(t).  dt = p(t) - kp(t)dt

dt

p(t) = connt 0
-kt

3.27



(t’ = 0, x;> 5 = r (0 + /j cx+“,
(i - 10-8, <L;) t2 - it (10'8 +p ox.yo2)
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5 2
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u I hul+hy 3.33

u# - hul - U2 3.34 ’

niib ‘20 04 = by + h V2j2 - (hd! - h U2)2

- 4wlUJ2 3.36

2 2

FL - iJ+cp  - + p.f&‘oQ

41 -p Jo -p

I moo2 (1+p, - r,,c2 <1+p) 3.37

&h 1 -p2’

2hV2’ u-op

I BoC2 (1 -p>I SBoC2  (l-/G 3.38

Jo-pz,
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lr+p  - p+  To
0

b+n -----+n+n

3.39

3.40
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0,  p# 1
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J(1-p2)
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J
u

- 2so





6 0

(hv + moo2)2  - Qv)2 - 61 o2  + mo852

%02 - W’rnV

‘b”
2 - 940 mv

347



hV 'moo2  . UII +U
P

!!! .
0

pn ooa 0 + pp oaa b

3.4%

I
n’nm  6, Up  ua: Pp ,:I;

%
hL, -

-m$ 02/2mo

(l- un /1,02) * (opn  00 e/ .oo2)
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l +p - p+ no+.

u:o
+

l +p __+ n+ n +*

0 + a - p + no+ 0 WI: .+n-bn+?lO+.



64

349



65

un:

42, 11- P2 o2 - ? c4

cu,  - hv)(Un+hv)  = 9412
,

uvum



d01 - 30 - 35 mb

di-1 = between 5 and 15 mb

l
-24

I I

tbebnrn( 1 0 fllT?~lllUiillJM)  klMU?UMiY~W~ collision cross  section


